b D
10 &

MBKE £ TRl fERh

MBK screw motor drice base

BHRINLEF
Traditional installation
BHZBHERS

Linear Motor Seat Series _ :




| L] I
10 &5
RONTIM

BB EREE

MBK10-57
MBK12-57
EECENELS . 5T
MBK10-60

MBK12-60
IERECEBAELS . 60-400WEIAREEA

RS ER 2373 Bh HAERS Seﬁn B BURIRT
Included parts | Seat/base Bearing Bearing gland € Washer Locking nut
AEHE: 1 14 1 2 2 1

QTY: Pc 1set 1pc 2pcs 2pcs 1pc

%51/ Features

— R DA UL S A RRFLRI— AL T, BERAMRERIED A0/ BXHE 4 O/ fhRFL D/ 22
FRAROFIA—K, MMSeRT 2B DIRES 5 B HREK S 2R T EHAIR R !

A S BEAREER T EIXT0.01/100, RIELTFREFHFITE,

The positioning hole of the integrated motor seat and the bearing installation hole are processed in an integrated
way, which can maximize the four position integration of the motor axis / coupling axis / bearing hole axis / screwrod a
xis, so as to overcome the shortcomings of different shafts when the separate motor seat and the separate bearing sea
tare installed together!

The parallelism between the bearing shaft and the mounting surface of the base shall reach 0.01/100 to ensure the para

llelism of the screw after installation

FARB#/technical parameter

MBK10-57 0.005 0.01/100 HT250 0.8 30X 35
MBK10-60 0.005 0.01/100 HT250 0.8 30X 35
MBK12-57 0.005 0.01/100 HT250 0.8 30X 35
MBK12-60 0.005 0.01/100 HT250 0.8 30X 35

| L] ey
10 &n
RONTIM

BZ B EREE

S m b
BN RS BENRERT
EENE N EDCRACPE
Barar g | v #-a W e ‘_P

(L

MEEE

1 G,

¢ DT
[T L
| |
K
BiNFR~T (Ball-screw size) Bl ZE R (Installation Dimension of motor) B (unit) :mm
MBK10-57 10 M10X1 6.2 30 10 10 5 36 38.1 47.1 57 M4
MBK10-60 10 M10X1 6.2 30 10 10 5 36 50 49.5 60 M5
MBK12-57 12 M12X1 6.2 30 10 12 5 36 38.1 47.1 57 M4
MBK12-60 12 M12X1 6.2 30 10 12 5 36 50 49.5 0 M5
FERRST (Seat size)
MBK10-57 22 60 84 35 41 10 45 46 11 6.5 6.6 35
MBK10-60 22 60 84 35 41 10 45 46 11 6.5 6.6 35
MBK12-57 25 60 86 35 43 10 45 46 11 6.5 6.6 35
MBK12-60 25 60 86 35 43 10 45 46 11 6.5 6.6 35
6FL S2 T u
13 30 46

&
1ERAMALTELIE, HmmE0ER (All types make preload)
2. HARAPSECM AR, RIEERKLTER,

(Bearing P5 pairing assembled using the most appropriate ball screw)




| [ S, = N
10 =% 10 =%
RONTIM RONTIM

BB ENISR BB EREE

MBK15-57 BN MRT BN RERST
EEE EE*”;E:"? 575 %*}-IJ . 4 - l I.lE -.:J:-Iru- b
MBK15-60 Cam .

14 TR ¢,
e

ERREEHLAIS . 60-400W/RIEREEA
MBK15-80

ERREHIAIS : 80-750W(AIBREEML
MBK15-86 —
BEEENEIS : 865N e [ F —
MBK15-90 B
EEREBHIELS : 9OfRIAREEH/90 ) A

O

¥
A= ERM 2373 T HAES s ealln a BRIRET
Included parts | Seat/base Bearing Bearing gland grng Was ¢ Locking nut
Wﬁﬂi
c lset lpc 2pcs 2pcs lpc — O =
$¥5/ Features 1
- i
— A DIAEE ML S MAREF LRI — AT, ERAMRERIEDAMC/BAHERH0/ AFL L/ 22 7
PRSI, MTIRERT 9B RS 9 B iR & R R EHAER A |
AL RS (Ball-screw size) L3 R) (Installation Dimension of motor) FfiZ (unit) :mm
AR S AR EEE T EXT0.01/100, RIELTFREFNFITE,
- . Lo . . . MBK15-57 15 M15X1 6.2 32 10 12 5 38 38.1 47.1 57 M4
The positioning hole of the integrated motor seat and the bearing installation hole are processed in an integrated MBK15-60 15 MI5X1 | 62 o 0 5 5 38 50 295 0 M5
way, which can maximize the four position integration of the motor axis / coupling axis / bearing hole axis / screwrod a MBK15-80 15 M15X1 | 6.2 35 10 12 5 46 70 63.6 0 M5
Xis, so as to overcome the shortcomings of different shafts when the separate motor seat and the separate bearing sea MBK15-86 15 M15X1 | 6.2 35 10 12 5 46 73 69.6 86 M5
t are installed together! MBK15-90 15 M15x1| 62 | 35 | 10 12 5 46 80 709 | 86 | M5
JEAR R S) (Seat size)
The parallelism between the bearing shaft and the mounting surface of the base shall reach 0.01/100 to ensure the para
llelism of the screw after installation
MBK15-57 28 70 97 40 49 12 50 56 11 6.5 6.6 39
}ﬁ*%?&/te(:hrncal pa ) meter— MBK15-60 28 70 97 40 49 12 50 56 11 6.5 6.6 39
MBK15-80 28 70 106 40 49 12 55 58 11 6.5 6.6 39
MBK15-86 28 70 106 40 49 12 55 58 11 6.5 6.6 39
MBK15-90 28 70 106 40 49 12 55 58 11 6.5 6.6 39
6L S S2 T U
MBK15-57 0.005 0.01/100 HT250 1.2 930X40 e
MBK15-60 0.005 0.01/100 HT250 12 30X 40 &1 6 15 | 45 |AT54//E58
MBK15-80 0.005 0.01/100 HT250 14 $30X50 . N
MBK15-86 0.005 0 01§100 HT250 1.4 30X 50 LEAMRARETELE, HMH0ER (Al types make preload)
. . . e
MBK15-90 0.005 0.01/100 HT250 14 30X50 2 MR FAPSECXY4EEE, & EIRERLTER, E-6

(Bearing P5 pairing assembled using the most appropriate ball screw) -



» BED o T
Te i e &%

BB ENISR BB EREE

RINLITR BN R
MBK17-80 L e s
MBK20'80 WHE | ey ooy —

EECENEIS : 80-7T50W EIAREEA] B ’
MBK17-86 e = R P
MBK17-86

EEIEBHIES : 86 HERH
MBK20-90

ERCEBEAES . 90{aRARENL/90RERN]

¥
P EeE e K wEEs | JZHE HRES
Included parts | Seat/base Bearing Bearing gland grng EN Locking nut
Wﬁﬁi
c lset lpc 2pcs 2pcs lpc — O =
$¥5/ Features 1
- i
— A DIAEE ML S MAREF LRI — AT, ERAMRERIEDAMC/BAHERH0/ AFL L/ 22 7
C i— ERDRESHE &I R E A RS
LS —, N5eiRT 5 BN DA S 5 B R R S 2 b T E AR ! AT RS) (Ball-screw size) L2235 R~} (Installation Dimension of motor) Hifiz (unit) :mm
AR S AR EEE T EXT0.01/100, RIELTFREFNFITE,
MBK17-80 17 M17X1 10.2 43 15 13 5 54 70 63.6 80 M5
The positioning hole of the integrated motor seat and the bearing installation hole are processed in an integrated MBK17-86 17 M17X1 10.2 43 15 13 5 54 73 69.6 36 M5
way, which can maximize the four position integration of the motor axis / coupling axis / bearing hole axis / screwrod a MBK20-80 20 M20X1 10.2 43 15 13 5 47 70 63.6 80 M5
Xis, so as to overcome the shortcomings of different shafts when the separate motor seat and the separate bearing sea MBK20-86 20 M20x1 10.2 43 15 13 > 47 73 69.6 86 M5
. MBK20-90 20 M20X1 10.2 43 15 13 5 47 80 70.9 86 M5
tare installed together!
JERRSE (Seat size)
The parallelism between the bearing shaft and the mounting surface of the base shall reach 0.01/100 to ensure the para
llelism of the screw after installation MBK17-80 39 86 T 55 o7 B 60 70 12 85 5 8
x o MBK17-86 39 86 118 55 67 12 60 70 14 8.5 9 48
S = *
& ARS ¥, /technical parameter MBK20-80 34 86 118 | 50 | 59 | 12 | 60 | 68 14 85 | 9 | 43
MBK20-86 34 86 118 50 59 12 60 68 14 8.5 9 43
MBK20-90 34 86 118 50 59 12 60 68 14 8.5 9 43
6L S S2 T U
MBK17-80 0.005 0.01/100 HT250 2.3 P40X55 MBK17 8 19 45 68
MBK17-86 0.005 0.01/100 HT250 2.3 D40X55 %‘I MBK20 8 19 45 70
MBK20-80 0.005 0.01/100 HT250 2.3 D40X55
! 1 ERMMAETIELIE, m0EkR (Al types make preload)
MBK20-86 0.005 0.01/100 HT250 2.3 D40X55 By 4 g
MBK20-90 0.005 0.01/100 HT250 23 40X 55 2 MACRFAPSECYI4EEE, RIEEIRERLTER,

(Bearing P5 pairing assembled using the most appropriate ball screw)




o WD o T
70 #x T Ex

BB ENISR BB EREE

BINLFRYT BHIRERYT
MBK20-110 JSABE  WADCWACHS -9
MBK25-110 S AL
IEECERAELS . 110MEAR/FH BN ; B'" 3 &
|
MBK20-130 = = " = i
ansn A NN

MBK25-130

MBK25B-130
ISECEBAALS . 130fAAREBH

¥
A= ERM 2373 T HAES Seﬁn B BRIRT
Included parts | Seat/base Bearing Bearing glan grng EN Locking
ASHE: 1 14 1 2 2 1
QTY: Pc 1set 1pc 2pcs 2pcs 1pc — O =
$¥5/ Features 1
- i
— A DIAEE ML S MAREF LRI — AT, ERAMRERIEDAMC/BAHERH0/ AFL L/ 22 7
FEOENGU—F, MMRRT DBERNDAES D BENHMAERSREN R EHMARR!
AT ) (Ball-screw size) HI AL 2285 ) ~) (Installation Dimension of motor) Hify (unit) :mm
AR S AR EEE T EXT0.01/100, RIELTFREFNFITE,
o } o ] o MBK20-110 20 M20x1 | 102 | 42 | 15 | 18 | 8 60 95/85 | 91.9/93.9 | 110 | M8
The positioning hole of the integrated motor seat and the bearing installation hole are processed in an integrated MBK25-110 25 M25%15 | 123 29 18 18 3 50 95/85 91.9/93.9 | 110 | M8
way, which can maximize the four position integration of the motor axis / coupling axis / bearing hole axis / screwrod a MBK20-130 20 M20X1 10.2 42 15 15 8 60 110/100 | 102.5/109.6 | 130 | M8
Xis, so as to overcome the shortcomings of different shafts when the separate motor seat and the separate bearing sea MBK25-130 25 M25x15 | 12.3 49 18 18 8 60 110/100 | 102.5/109.6 | 130 | M8
. led her! MBK25B-130 25 M25X1.5 | 12.3 49 18 20 8 78 110/100 |102.5/109.6 | 130 | M8
tareinstalled together: MBK20/25-120 (5 H)L=110,N=92.2 [
The parallelism between the bearing shaft and the mounting surface of the base shall reach 0.01/100 to ensure the para JEP R} (Seat size)
N * ) MBK20-110 34 96 148 50 59 15 80 78 14 9 9 50
FARS#/technical parameter MBK25-110 48 106 153 | 63 | 79 | 15 | 85 85 17 1 11 | 63
MBK20-130 34 96 148 50 59 15 80 78 14 9 9 50
MBK25-130 48 106 153 63 79 15 85 85 18 11 11 63
MBK25B-130 48 134 170 85 89 20 80 110 21 15 13 68
MBK20-110 0.005 0.01/100 HT250 4 P40X55 64l S 52 T — U
MBK20| 8 19 68 |HIT0/578
MBK25-110 0.005 0.01/200 HT250 4.6 $40/45 X 66 - MBK25| 10 2 68 85
MBK20-130 0.005 0.01/200 HT250 4.3 $40/45 X 66 §7I . .
MBK25-130 0.005 0.01/200 HT250 4.8 $40/45 66 1. ERAMMAZETELIE, HrE0BERR (All types make preload)
MBK25B-130 0.005 0.01/200 HT250 7.5 55X 78 2. A FAPSEIRT AL, BETRBMZMER,

(Bearing P5 pairing assembled using the most appropriate ball screw)




o WD o T
70 #x T Ex

BB ENISR BB EREE

BINLFRYT BHIRERT
MBK30-130 JSABE  WADCWACHS -9
MBK35-130 T oy AL
EECEEAES . 130MEAREA "E"' 3 ¢

| o
MBK40-150 = = " = i
EECEAELS . 150/ AR anas A oTdL
P/ & —

MBK40-180 -laifle Fie ST

EECENIES . 180fAARFEN

¥
P EeE e K wEEs | JZHE HRES
Included parts | Seat/base Bearing Bearing gland grng EN Locking nut
W@ﬁi
c lset lpc 2pcs 2pcs lpc — O =
¥5m/ Features 1
- H
—RUC DA EEMFL S MAREFLRI AT, ERARERIEDAMO/BXHhEsH O/ AT/ 2 7
FHOFTT—K, MM5RT D BRNDIAES 53 B & R R RIHMAVER S !
LA ) (Ball-screw size) Hi %235 R~) (Installation Dimension of motor) HifiZ (unit) :mm
AR S AR EEE T EXT0.01/100, RIELTFREFNFITE,
o : o ] o MBK30-130 30 M30X15 | 142 | 56 | 21 | 20 | 8 78 110/100 | 102.5/109.6 | 130 | M8
The positioning hole of the integrated motor seat and the bearing installation hole are processed in an integrated MBK35-130 35 M35%15 | 14.2 61 25 20 3 78 110/100 | 102.5/109.6 | 130 | M8
way, which can maximize the four position integration of the motor axis / coupling axis / bearing hole axis / screwrod a MBK40-150 40 M40X1.5 | 18.2 70 25 25 12 78 130 123.4 180 | M10
Xis, so as to overcome the shortcomings of different shafts when the separate motor seat and the separate bearing sea MBK40-180 40 M40x1.5 | 182 70 25 25 12 8 114.3 1414 180 | M12
. MBK30/35-120(J#k3##1)L=110,N=92.2 fF Bk /20 3t
tare installed together!
JEARS) (Seat size)
The parallelism between the bearing shaft and the mounting surface of the base shall reach 0.01/100 to ensure the para
llelism of the screw afterinstallation MBK30-130 51 134 | 170 | 85 | 89 | 20 | 80 110 21 30 13 | 68
X * ) MBK35-130 52 134 170 85 95 20 80 110 21 30 13 70
B‘Uk’%;&/ technical para meter MBK40-150 60 180 223 | 100 | 110 | / / / 26 20 175 | 80
MBK40-180 60 180 223 100 110 / / / 26 20 175 | 80
6L S S2 T U
MBK30| 11 23 66 |A7102/5110
MBK30-130 0.005 0.01/200 HT250 7.5 55X 78 . MBK40| 14 | 33 | 90 [#i130/5150
MBK35-130 0.005 0.01/200 HT250 7.5 D65X90 %7}:
MBK40-150 0.005 0.01/200 HT250 18 65X 90 1. (ERMALTELE, HmoErg (All types make preload)
MBK40-180 0.005 0.01/200 HT250 18 65X 90 2 AR FPSEINT 4R, BE T AL SR,

(Bearing P5 pairing assembled using the most appropriate ball screw)




o WD o T
70 # e &%

BEL B ENISR BEE BN EMSR

MBK25P-130 BINLTRYT ENRERT

MBK30P-130
MBK35P-130 = mEsa:.
EECEENES: 130MEAREEM |
- ] Eat| e
MBK40-150 manN i
SERRAEAAIS : 150fAAREM o /g
D _|E F
MBK40-180 s
EACEENIES . 180fAIAREEM BEAE R~
Included parts | Seat/base Bearing Bearing glan Wa Locking nut
HNEHE: 1 14 1 2 2 1

QTY: Pc 1set lpc 2pcs 2pcs 1pc

%555/ Features

—RUDAEEMA SHMARELRI AT, ERARERIED AL O/BXEHERH O/ AL/ 2 R
FHOFI—E, MR T DB DIAES 53 BN S RN T RIHAYR = !
AT ST (Ball-screw size) L2 R sF (Installation Dimension of motor) H{7 (unit) :mm
A S BEAREEETFEIAT0.01/100, RIELTFREFNFITE,
. . L . . . MBK25P-130 25 M25X1.5 | 12.3 49 18 18 8 60 110/100 | 102.5/109.6 | 130 M8
The positioning hole of the integrated motor seat and the bearing installation hole are processed in an integrated MBK30P-130 30 M30X15 | 14.2 56 1 20 3 78 110/100 | 102.5/109.6 | 130 | M8
way, which can maximize the four position integration of the motor axis / coupling axis / bearing hole axis / screwrod a MBK35P-130 35 M35X1.5 | 14.2 61 25 20 8 78 110/100 | 102.5/109.6 | 130 | M8
Xis, 50 as to overcome the shortcomings of different shafts when the separate motor seat and the separate bearing sea MBKA0P-150 40 M40x1.5 | 182 | 70 | 25 | 25 | 8 8 110/100 | 102.5/109.6 | 130 | M8
. lled herl MBK40P-180 40 M40X1.5 | 18.2 70 25 25 8 78 110/100 | 102.5/109.6 | 130 M8
tareinstalled together: MBK30/35-120 (% BL)L=110,N=92.2 R/
The parallelism between the bearing shaft and the mounting surface of the base shall reach 0.01/100 to ensure the para JEPEI (Seat size)

llelism of the screw after installation

Sy ) MBK25P-130 48 134 170 | 95 | 20 [ 20 | 80 110 21 35 13
ﬁﬁ%;&/techmcal parameter MBK30P-130 51 134 170 | 95 | 20 | 20 | 80 110 21 35 13
52 134 170 | 95 | 20 | 20 | 80 110 21

MBK35P-130 35 3
MBK40P-150 60 180 223 | 110 | / / / / 26 45 175
MBK40P-180 60 180 223 | 110 | / / / / 26 45 175

MBK25P-130 0.005 0.01/200 HT250 9.2 55X 78 6L | S | s2 | T U

MBK30P-130 0.005 0.01;200 HT250 9.2 55X 78 . MBK30| 11 | 23 | 66 [iii102)5110

MBK35P-130 0.005 0.01/200 HT250 9.2 ©55% 78 pa MBK40| 14 | 33 | 90 |#f130/5150

MBK40P-150 0.005 0.01/200 HT250 26 6590 1 fEAMALZTAERIE, HmA0EkR (All types make preload)

MBK40P-180 0.005 0.01/200 HT250 26 P65% 90 2 M ACREAPSEIN AL, EEE ALY {ER,

(Bearing P5 pairing assembled using the most appropriate ball screw)






